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Problem quickname: 4599
1
Insert the correct symbol, + or —.
a) 33 29=14 b) 18 14 =14 c) 12 1=13
d) 46 37=9 e) 47 33 =14 f) 32 25 =17
g) 16 14 = 30 h) 28 15 =13 i) 20 12=8
j) 42 40 = 2
2)
Insert the correct symbol, + or —.
a) 40 25 =15 b) 56 36 = 92 c) 69 22 =91
d) 53 32 =21 e) 27 23 =14 f) 5 1=6
g) 82 8 =90 h) 22 19 =41 i) 24 15=9
j) 11 7T=4
3)
Insert the correct symbol, + or —.
a) 22 20 =2 b) 28 14 =14 c) 22 19=3
d) 20 16 =4 e) 26 21=5 )9 7= g) 13 10=3
h) 26 13 =13 i) 22 4 =126 j) 13 7=
4)
Insert the correct symbol, 4+ or —.
a) 3087 10 = 3097 b) 2961 1856 = 4817
c) 5471 5073 = 398 d) 6947 1752 = 8699
e) 4870 1571 = 6441 f) 1660 583 = 2243
g) 1060 082 =478 h) 2391 222 = 2613 i) 938 599 = 339
j) 6934 5087 = 1847
Good Luck!
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